27/11/20

Watch the film clip here (nttps://vineo.com/468564053) and answer the

questions as you go through the lesson.

Dexter has 6 apples.
v Whitney has twice as many apples as Dexter.

How many apples do they have altogether?



https://vimeo.com/468564053

Whitney has 12apples.
, Dexter has twice as many apples as Whitney.
@ How many apples do they have altogether?

L@ Eva has three bundles of pears.

<~ One bundle contains 10 pears.
The other two bundles contain 8 pears.
How many pears are there in total?

Annie has 15 counters.

Ron has 7 more counters than Annie.

How many counters does Ron have?




Annie has some counters.

Ron has 28 counters. He has 17 more than Annie.

How many counters does Annie have?

Eva has 90 counters.
26 of them are red.
The rest are yellow.
How many more yellow than red counters are there?




